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Attempt any five questions.

All questions carry equal marks.
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1. (a) Due to some old enmity between A and B, A
caused multiple injuries to B with a knife. B was
admitted to the hospital and two consecutive

surgeries were performed on him. Thereafter, B
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(b)
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developed hyperpyrexia (high temperature) as a
result of which he died. The post mortem report
shows that death was the result of hyperpyrexia.
Decide the ]iaBility of A. Justify your answer with

relevant provisions of law and cases.

X while trying to assault Y was intervened by Z. X
finding himself one against two took out a knife
and stabbed Z. At that stage Z happened to be in a
crunching position presumably to intervene and
separate the two. The knife pierced the upper
portion of his left thigh. The stab wound was
oblique and it cut the femoral artery and vein
under muscle, which are vital vessel of the body. Z
died immediately after the injuries. Can X be held
guilty under Section 300 (3). Decide.

‘A’F ‘B’ % o [ S F aww R, AT Y B
1 g W Y W HIE H | B’ A sl vl
efa vt qen AT 2 e fen e | ey
B’ F i SR M Aoy w5 @
T | WreaRn i T qnt & fF oo e s
TS g1 A’ & i w Ruio fif
I farfereh Iuaielt oiie Foffa amet & wmef & argar
I AT

S



(@) ‘X’ 9 Y’ W UER i TAHE F @ W, ‘Z' 5

2. (a)

3430

TEY fohe T X Y B % faeg etdhen TR
T = TewTen qen 7' ) i fan | e wefa g &
& 2 aF = sem A % fou geaew @ dEeR
Il T | 9/, 9 W % S e wem | ua
fast o aun wredfir & et wmr A st i
it F1e femr N for vt & forg ol oftt =i & aer
IE 2 W WA X H WL T @i #oum
300(3) % &G A IEwAT S wehar 27 faoffa
i |

H, the husband killed his wife one night in the
kitchen of his house. He was on terms of immoral
intimacy with one Mrs. X. The husband had
entertained suspicion about his wife's conduct with
his cousin. On the fateful night husband and wife
quarreled which culminated in the saying by the
wife, “Well, if it will ease your mind, I have been
untrue to you” and she went on “I know I have
done wrong but I have no proof that you haven’t at
Mrs. X.” Upon hearing this, the husband lost his
temper, picked up the hammer head and struck on
her head. She lost her life immediately.
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(b)

On his prosecution for murder, H pleads, grave
and sudden provocation. Will he succeed ?

Surinder bought a car, securing loan from a Bank.
The agreement contained a clause that in case
Surinder defaults consecutively thrice in paying
his EMIs, the Bank is entilted to take away the car.
One yéar after Surinder faulted to make payment
of his installments, Bank asked some of its agents
to take away the car parked in front of the house of
Surinder. Agents went and with (he help of
master-key 1ook away the car from parking site
without the consent of Surinder. Surinder files an
F.ILR. in the Police Station about theft of his

property. Decide about the success of Surdiner’s
claim.
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C, a cab driver appointed by an MNC at Gurgaon
makes trips to and fro from Delhi to Gurgaon
commuting employees of the Company. Due to
strike by few cab drivers, C was requested to make
more wrips during day as well as night. On
24.04.2011 when he was making his 8th trip from
Gurgaon to Delhi at 80. KMPH with ten
employees on board at about 3.30. a.m., he being
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tired and exhausted felt sleepy and while
negotiating a curved flyover, fell down from it
causing death of 8 of the employees and injuries to
rest including himself. Has C committed any
offence? If so, state the offence and support your

answer with decided cases.

X and Y were very intimate to each other. It was
during this intimacy that X was able to have some-
obscenc photos of Y. After their college days
when Y was married to Z, X telephoned her to
give him an amount of Rs. 50,000/- otherwise her
photos will be sent to the husband of Y, j.e. Z. Y,
in order to live peacefully with Z, delivered Rs.
50,000/~ to X. Decide the liability of X in (his
case.
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4. X and Y were childhood friends in the village. Both of
them grew tlogether and there was an understanding
between them that they will eventually marry each other
after X takes up a job in the city. X got a job and was to
leave for the city. Before leaving for city, he made a
pronuise 10 Y that he will be marrying her after he
returns from city with sufficient money for marriage.
On the basis of said promise, he had a sexual

intercourse with Y with her consent, before leaving for
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the city. In the city X was attracted to another girl Z in
his officc and started evading Y. Shocked by the
conduct of X, Y filed a criminal complaint against X for
prosecuting him for the offence of rape, X pleads that
such sexual intercourse was with the consent of Y
therefore, he has committed no offence. Decide with the

help of legal provisions and judicial decisions.
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5. Point out the difference between any twe of the

following:

{a) Culpable homicide and murder.
(b) Kidnapping and abduction.

(c) Theft and extortion.
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6. (a) X while withdrawing money from the Bank, was
paid Rs. 1,000 in excess by mistake of the cashier
due to heavy rush. X calculated and came to know
of this excess amount. He kept it with him for
some days and during next visit to the Bank
disclosed the fact and was ready to return the

excess amount. Has X committed any offence?
Discuss.

(b) “Criminal breach of trust and cheating are two
distinct offences generally involving dishonest
intention but mutually exclusive and different in

basic concept”. Explain with the help of decided
cases. '
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7. X a minor girl was going to a vegetable market in
search of work when she met a woman Y, who
promised her work and asked to accompany. Y took X
to her home and kept her there till evening. Another
woman Z took her away from the home of Y to a
bungalow where she was kept for two days. Before any
further act could take place, police apprehended both
women Y and Z along with minor X,

State the liability of Y and Z in this case.
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In order to grab property of his brother B, A
intending to kill him gave him swects mixed with
poison. Before B could consume the sweets, he
kept them on the table and went 1o wash his hands.
Meanwhile, a child of seven years, the son of A
came and took some parts' of the sweets and ate
them. The child died by consuming the poisonous
sweets. A 1s being held liable for murder while he
takes the plea that he had no intention to kill the
child. Decide.

E gives her expensive saree to a dry-cleaner for
dry-cleaning and ironing it. On the next day, the
dry-cleaner tells her that the saree is not yet ready
and will be given to her after two days. In the
afternoon, E goes to a ladics” party and sees her
friend Z wearing the same saree. On inquiring Z

reluctantly discloses that she has hired the saree
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for a day from the same dry-cleaner. What offence
has been committed by the dry-cleaner ?
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